Homomorphism and subgroups Tuesday, June 29, 2021 3:29 PM Whenever we learn about a new structure in mathematics, we should study the functions between these objects that preserve their properties. These functions are often called homomorphism. (In a very vague sense homomorphisms give us a global under standing of the objects.) Another point of view is from inside: we often study subsets that share the same property. For instance in linear algebra, the objects of interest are vector spaces, the homomorphisms are linear maps, and subsets that share the same properties are subspaces. We do the same for groups. Def. Suppose (G, \cdot) and (H, *) are two groups. Then a Function f: G -> H is called a group homomorphism if for every $g_1, g_2 \in G$, $f(g_1, g_2) = f(g_1) * f(g_2)$. . Suppose (G, \cdot) is a group. Then a subset K of G is called a subgroup of G if K is a group with respect to the operation . Next we see a few examples.

Examples of group homomorphisms Tuesday, June 29, 2021 3:29 PM Ex. Suppose n is an integer and $n \ge 2$. Then $c_{n}: \mathbb{Z} \to \mathbb{Z}_{n}, c_{n}(a) := [a]_{n}$ is a group homomorphism. Solution. For every $a, b \in \mathbb{Z}$, $c_{n}(a+b) = [a+b]_{n} = [a]_{n} + [b]_{n} = c_{n}(a) + c_{n}(b).$ <u>Ex.</u> $f: \mathbb{Z} \longrightarrow \mathbb{Z}$, f(x) = -x is a group homomorphism. Solution. For every x,y∈Z, f(x+y) = -(x+y) = (-x) + (-y) = f(x) + f(y). Ex. Let $\mathbb{R}^{>\circ}$ be the set of positive real numbers. Notice that IR is a group under multiplication. Then ln: ℝ°→ ℝ is a group homomorphism. Solution. For every $x, y \in \mathbb{R}^{>\circ}$, $ln(\chi, y) = ln(\chi) + ln(y).$ <u>Ex.</u> Let N: $\mathbb{C} \setminus \underbrace{\mathbb{P}}_{\mathbb{P}} \xrightarrow{\mathbb{P}} \mathbb{R}^{>\circ}$, $\mathbb{N}(z) = |z|$. Then N is a group homomorphism. Solution. For every $z \in \mathbb{C} \setminus \frac{2}{3}$, $|z| \in \mathbb{R}^{3}$ and $|z_1 \cdot z_2| = |z_1| \cdot |z_2| \cdot \mathbf{z}$

Examples of group homomorphisms Tuesday, June 29, 2021 3:29 PM Ex. Let GL (IR) be the set of invertible nxn real matrices From linear algebra we know that matrix multiplication is associative, product of two invertible nxn matrices is invertible, for every a in $GL_n(\mathbb{R})$, $a \cdot I_n = I_n \cdot a = a$ where I_n is the identity matrix. So $(GL_n(\mathbb{R}), \cdot)$ is a group. Let $\theta: GL_n(\mathbb{R}) \longrightarrow GL_n(\mathbb{R}), \theta(x) = (x^{t})^{-1}$ where x^t is the transpose of x. Then θ is a group homomorphism <u>Solution</u> $\theta(x,y) = ((x,y)^{t})^{-1} = (y^{t}, x^{t})^{-1} = (x^{t})^{-1} \cdot (y^{t})^{-1}$ $= \theta(\mathbf{x}) \cdot \theta(\mathbf{y}) \cdot$ Ex. Suppose (G, \cdot) is a group. Then $f: G \rightarrow G$, $f(g) = g^{-1}$ is a group homomorphism if and only if G is abelian. Solution. (=>) For every g, he G, f(g.h) = f(g). f(h). Then $(q \cdot h) = q^{-1} \cdot h^{-1} \implies h \cdot q = q^{-1} \cdot h^{-1} \qquad (I)$ For $x, y \in G$, let $g = x^{-1}$ and $h = y^{-1}$ in (1). Then we obtain $(y^{-1})^{-1} \cdot (x^{-1})^{-1} = (x^{-1})^{-1} \cdot (y^{-1})^{-1}$. Since $(x^{-1})^{-1} = x$ and $(y^{-1})^{-1} = y$, we conclude $y \cdot x = x \cdot y$. Therefore G is abelian $(\Leftarrow) f(g \cdot h) = (g \cdot h)^{-1} = h^{-1} \cdot g^{-1} = f(h) \cdot f(g) = f(g) \cdot f(h) \cdot \blacksquare$

Examples of group homomorphisms Tuesday, June 29, 2021 3:29 PM Ex. Suppose (G, \cdot) is a group and geG. Let $\underline{c_{g}: G \to G, c_{g}(x) := g \cdot x \cdot g^{-1}}_{g}$ Then c_ is a group homomorphism. Solution. For x, y ∈ G, we have to show that $C_{q}(X \cdot Y) \stackrel{?}{=} C_{q}(X) \cdot C_{q}(Y).$ We have $C_{q}(X \cdot y) = q \cdot X \cdot y \cdot q^{-1}$ and $C_{q}(X) \cdot C_{q}(Y) = (q \cdot X \cdot q^{-1}) \cdot (q \cdot Y \cdot q^{-1})$ $= q \cdot x \cdot (q^{-1} \cdot q) \cdot y \cdot q^{-1}$ $= q \cdot \chi \cdot e \cdot y \cdot q^{-1}$ = <u> 9. x.y.g⁻¹ ()</u> By (I) and (I), we obtain that $C_q(x \cdot y) = C_q(x) \cdot C_q(y)$. Ex. Suppose (G,.) is a group and geG. Then $f: \mathbb{Z} \to G$, $f(n) := g^n$ is a group homomorphism. Solution. For every m, n E Z, $f(m+n) = q^{m+n} = q^{m} \cdot q^{n} = f(m) \cdot f(n)$

Examples of subgroups Tuesday, June 29, 2021 3:29 PM Ex. \mathbb{Z} is a subgroup of $(\mathbb{Q}, +)$. \mathbb{Q} is a subgroup of $(\mathbb{R}, +)$. IR is a subgroup of (C, +). Ex. $2\mathbb{Z} := \frac{3}{2}\mathbb{k} | \mathbb{k} \in \mathbb{Z} \frac{3}{2}$ is a subgroup of $(\mathbb{Z}, +)$ Pf. For every $k_1 \in \mathbb{Z}$, $2k+2l=2(k+l) \in 2\mathbb{Z}$, and so + defines an operation on 27 + is associative. $0 = (2)(0) \in 2\mathbb{Z}$ and for every $x \in 2\mathbb{Z}$, x + 0 = 0 + X = X. If $x \in 2\mathbb{Z}$, then x = 2k for some $k \in \mathbb{Z}$. Hence $-x = 2(-k) \in 2\mathbb{Z}$, and $\chi_{+}(-\chi) = (-\chi) + \chi = 0$. Ex. IR \ zoz is not a subgroup of (IR,+). Solution. 1, -1 are in R 203, but 1+(-1)=0 is not in R 203 = Ex. Suppose (G, \cdot) is a group. Then $z \in z$ is a subgroup of G. Solution . e.e.=e. Hence · defines an operation on ze.z. \cdot is associative. $e_{c} \in \mathcal{Z}e_{c} \mathcal{Z} \cdot e_{c}^{-1} = e_{c}$ Some parts of these arguments seem to be redundant. The next criterion helps us avoid these redundancies.

Subgroup criterion and more examples Tuesday, June 29, 2021 3:29 PM Lemma (Subgroup criterion) Suppose (G,.) is a group. A subset H of G is a subgroup if it is not empty and for every x,yeH, x,y⁻¹eH <u>Pf.</u> Since $H \neq \emptyset$, there is $x_e H$. By hypothesis, $\chi_e \cdot \chi_e^{-1} \in H$, which means ee H. (I) For every yEH, by hypothesis and (I), e.y-1EH, which means y⁻¹ EH. (III) For every X, yeH, by (IT) y⁻¹eH, and so by hypothesis, $\chi \cdot (y^{-1})^{-1} \in H$. This implies $\chi \cdot y \in H$ as $(y^{-1})^{-1} = y$. Therefore for every X, YEH, X. YEH. Hence · defines an operation on H. · 15 associative. By (I), H has the neutral element of . . By (IT), every element of H has an inverse in H. Let us make two important remarks about subgroups in form of a lemma. This is a subtle and important lemma that we often use

Basic property of subgroups and examples Tuesday, June 29, 2021 Lemma (Basic property of subgroups) Suppose H is a subgroup of (G, \cdot) . Then the neutral element e_{G} of G is in H, and, for every x, y ∈ H, X·y⁻¹ ∈ H where y^{-1} is the inverse of y in G. Pf. Since H is a subgroup, it has a neutral element e_{H} . Hence $e_{H} \cdot e_{H} = e_{H}^{(I)}$. Multiplying both sides of (I) by the inverse e_{H}^{-1} of e_{H} in G, we obtain $e_{H} \cdot e_{H} \cdot e_{H}^{-1} = e_{H} \cdot e_{H}^{-1}$; and so $e_{H} = e_{G}^{-1}$. Thus e_eH. · Because H is a subgroup, every element of H has an inverse in H. Hence if yEH, then there is y'EH such that $y \cdot y' = e_H \cdot By (II)$, $y \cdot y' = e_H^{(III)}$, Multiplying both sides of (III) by y^{-1} , we obtain $y^{-1} \cdot y \cdot y' = y^{-1}$, and so y'=y⁻¹ is in H. Thus, for x, yeH, x.y⁻¹eH. Ex. For every $n \in \mathbb{Z}$, $n \mathbb{Z} := \frac{3}{2} n k | k \in \mathbb{Z} \frac{3}{2}$ is a subgroup of \mathbb{Z} . Solution. Notice that $O = Cn(G) \in n\mathbb{Z}$, and so it is non-empty. For x, y in $n\mathbb{Z}$, x=nk and y=nl for some $k, l\in\mathbb{Z}$. Then x-y=nk-nl,

Centralizer subgroups
Theodor, None 29, 2023 2029 MA
cohich implies that
$$x-y = n(k-1) \in n\mathbb{Z}$$
. Therefore by the
subgroup criterion $n\mathbb{Z}$ is a subgroup of \mathbb{Z} .
Ex. (Centralizer) Suppose (G, \cdot) is a group and geG. Then
 $C_{G}(g_{1}) := \{ \{ x \in G \mid g + x = x \cdot g \} \text{ (s called the centralizer of } g,$
and it is a subgroup of G.
Pf. Let e_{G} be the neutral element of G. Then
 $e_{G}: g = g = g \cdot e_{G}$. Hence $e_{G} \in C_{G}(g)$, which implies that
 $C_{G}(g)$ is not empty.
 $.$ Suppose $x, y \in C_{G}(g)$. This means $x \cdot g = g \cdot x$ and $y \cdot g = g \cdot y$.
We count to show that $x \cdot y^{-1} \in C_{G}(g)$. So we start by
woondering what (I) and (II) say about y^{-1} . Multiplying
both sides of (II) by y^{-1} from left and right, we obtain
 $y \cdot g = g \cdot y \implies y^{-1} \cdot (y \cdot g) \cdot y^{-1} = y^{-1} \cdot g \xrightarrow{e_{G}} (III)$
 $x \cdot y^{-1} \cdot g = x \cdot (y^{-1} \cdot g)^{(III)} = x \cdot g \cdot y^{-1} \xrightarrow{e_{G}} g \cdot x \cdot y^{-1}$. This

Center Tuesday, June 29, 2021 3:29 PM x.y⁻¹ e C (g). Hence by the subgroup criterion means C_(q) is a subgroup of G. Ex. (Center) Suppose (G, \cdot) is a group. Then Z(G):= {xeG | YgeG, g·x=x·g} is called the center of G, and it is a subgroup of G. Pf. Suppose e is the neutral element of G. Then for every $q \in G$, $g \cdot e = e \cdot g = q$. Hence $e \in Z(G)$. So Z(G) is not empty. . Suppose $x, y \in Z(G)$; we want to show that $x \cdot y^{-1} \in Z(G)$. Since X, y ∈ Z(G), for every g ∈ G, X·g = g·x and y·g=g·y. By (1) and (1), $x, y \in C_{\mathcal{L}}(g)$. Because $C_{\mathcal{L}}(g)$ is a subgroup, we $Conclude that x \cdot y^{-1} \in C_{(q)} \cdot Therefore (x \cdot y^{-1}) \cdot g = g \cdot (x \cdot y^{-1}).$ Since () holds for every geG, we deduce that x.y⁻¹ ∈ Z(G). Therefore by the subgroup criterion Z(G) is a subgroup. E Notice that $Z(G) = \bigcap_{g \in G} C_{g}$, and so the next example

Intersection. Tuesday, June 29, 2021 3:29 PM gives us an alternative approach for proving that Z(G) is a Subgroup. Ex. (Intersection of subgroups) Suppose <u>ZHZ is a</u> iet family of subgroups of (G,.). Then \bigcap H; is a subgroup of G $\frac{PP}{Let H} := \bigcap_{i \in T} H_i \cdot Since H_i \text{ is a subgroup of } G_i$ the neutral element e of G is in Hi. Hence e e A H;. Thus H is not empty. Suppose X, YEH. We want to show X. y⁻¹EH. Because X, ye (H;, for every ieI, X, ye H;. Since H; is a Subgroup of G, $\chi \cdot y^{-1} \in H_i$. Thus $\chi \cdot y^{-1} \in \bigcap_{i \in T} H_i$. Therefore by the subgroup criterion \cap H; is a subgroup. Next we explore some of the connections between group homomorphisms and subgroups. Suppose (G,.) and (H, *) are two groups, and $f: G \rightarrow H$ is a group homomorphism. Let Im(f) be the image of f; that

Image and kernel of homomorphisms Tuesday, June 29, 2021 3:29 PM is Im(f) = = = f(g) | geGg, and similar to linear algebra let the kernel of f be $ker(f) := \xi g \in G \mid f(g) = e_{H} \xi$ where e_{H} is the neutral element of H. Theorem. Suppose (G, \cdot) and (H, *) are groups, and $f: G \rightarrow H$ is a group homomorphism. Then Im(f) is a subgroup of H, and ker(f) is a subgroup of G. Proof of this theorem is based on the following properties of a group homomorphism. Proposition (Basic properties of group homomorphisms) Suppose $f: G \rightarrow H$ is a group homomorphism. Then (1) $f(e_{G}) = e_{H}$ where e_{G} is the neutral element of G, and e, is the neutral element of H, and (2) For every $q \in G$, $f(q^{-1}) = f(q)^{-1}$ where q^{-1} is the inverse of g in G and fcg_{0}^{-1} is the inverse of fcg_{0} in H. <u>Pf of proposition. (1) Since eq is the neutral element of G</u>,

Basic properties of homomorphisms 3:29 PM Tuesday, June 29, 2021 $e_{G} \cdot e_{G} = e_{G}$. Because f is a group homomorphism, $f(e_{c_{1}} \cdot e_{c_{1}}) = f(e_{c_{1}}) \cdot f(e_{c_{1}})$. Hence $f(e_{c_{1}}) \cdot f(e_{c_{1}}) = f(e_{c_{1}})$. Thus $f(e_{C}) \cdot f(e_{C}) = f(e_{C}) \cdot e_{H}$. Therefore by the cancellation law, $f(e_{c}) = e_{\mu}$ (2) For every $g \in G$, $g \cdot g^{-1} = e_G$. Applying f to the both sides, we obtain that $f(q \cdot q^{-1}) = f(e_{c_1})$. By the 1st part and the fact that f is a group homomorphism, we deduce that $f(q) \cdot f(q^{-1}) = e_{\mu}$. Multiplying both sides by the inverse fig 1 of figs in H, we obtain $f(g)^{-1} \cdot f(g) \cdot f(g^{-1}) = f(g)^{-1} \cdot e_H; \text{ and so } f(g^{-1}) = f(g)^{-1}$ е_н Now we are ready to prove that Im (f) and ker (f) are <u>subgroups.</u> PF = af Theorem. Notice that $f(e_G) \in Im(f)$, and so Im(f)is not empty. Suppose $\overline{x}, \overline{y} \in Im(f)$. Then $\overline{x} = f(x)$ and $\overline{y} = f(y)$ for some $\overline{x}, y \in G$. We want to show $\overline{x} * \overline{y}^{-1} \in Imf$

Image and kernel Tuesday, June 29, 2021 $\overline{\chi} * \overline{\eta}^{-1} = f(\chi) * f(\eta)^{-1}$ $= f(x) * f(y^{-1})$ (properties of homomorphisms) $=f(x \cdot y^{-1})$ (f is a homomorphism) e Im(f) Hence by the subgroup criterion Im (f) is a subgroup of H By the properties of homomorphisms, $f(e_{G}) = e_{H}$. Hence e e ker (f). Suppose x, ye ker f. We want to show $x \cdot y^{-1} \in \ker(f).$ $f(x \cdot y^{-1}) = f(x) * f(y^{-1})$ (f is a homomorphism) $= f(x) * f(y)^{-1}$ (properties of hom) (x,y e ker f) $\left(e_{H}^{-1}=e_{H}\right)$ <u>– е_н</u> Therefore by the subgroup criterion kerf is a subgroup. Ex. Find the kernel and the image of $C_n: \mathbb{Z} \to \mathbb{Z}_n$, C(a):=Ia]. Solution. Every element of Z is of the form IaI for some a in \mathbb{Z} . Hence every element of \mathbb{Z}_n is in $\operatorname{Im}(C_n)$. An integer of

Image and kernel Tuesday, June 29, 2021 3:29 PM is in the kernel of C_n if and only if $C_n(\alpha) = [0]$. $C_{n}(a) = [o] \iff [a] = [o]_{n}$ \leftrightarrow $a \equiv o$ <u>←> aen</u>Z Hence ker $c_{p} = n \mathbb{Z}$. Ex. Let's recall that $N: \mathbb{C} \setminus \{0\} \rightarrow \mathbb{R}^{\circ}$, N(z):=|z| is a group homomorphism. Find the image and the kernel of N. <u>Solution</u>. For every $r \in \mathbb{R}^{\circ}$, N(r) = r. Hence $Im(N) = \mathbb{R}^{\circ}$. $. \mathbb{Z} \in \ker(\mathbb{N}) \iff \mathbb{N}(\mathbb{Z}) = 1 \iff |\mathbb{Z}| = 1$. Therefore $ker(N) = \frac{3}{2} = C | |2| = 1\frac{3}{13} \text{ is the unit} - \frac{3}{12} = 1\frac{3}{12} + \frac{3}{12} + \frac{3}{1$ circle centered at the origin. The unit circle centered at the origin is often denoted by S^{1} . As a corollary of the above example, we obtain that · S' is a subgroup of (C\Zog, ·). Ex. Let $f: \mathbb{R} \to S^{\perp}$, $f(x) := e^{2\pi i x}$. Argue that f is a group homomorphism, and find Im(f) and ker(f).

Image and kernel Tuesday, June 29, 2021 3:29 PM Solution. For every $X_1, X_2 \in \mathbb{R}$, $f(x_1 + x_2) = e^{2\pi i (X_1 + X_2)}$ $\frac{2\pi i X_1 + 2\pi i X_2}{= C}$ <u>גרו או או גערי א</u> - כ . כ $= f(x_1) \cdot f(x_2).$ Hence f is a group homomorphism. 3 Every $z \in S^1$ is of the form $\cos \theta + i \sin \theta$, and so by Euler's formula $Z = e^{i\theta}$. Therefore $Z = f(\frac{\theta}{2\pi})$ is in the image of f. Thus $T_m(f) = S^{t}$. $x \in ker(f) \iff f(x) = 1$ $\leftrightarrow e^{2\pi i \times} = 1$ ∠TX is an integer multiple of 2TC. ⇔ xe Z Therefore $ker(f) = \mathbb{Z}$ Finally let's find out centers and some centralizer subgroups of Sn and Dan

Center of symmetric groups Tuesday, June 29, 2021 3:29 PM $\underline{\mathsf{Ex}} Z(S_{n}) = \underbrace{\mathbb{Z}}_{id} \underbrace{\mathbb{Z}}_{if} \operatorname{n}_{\underline{\mathbb{Z}}} \underbrace{\mathbb{Z}}_{if}$ Pf. Suppose to the contrary that there or Z(Sn) Zid. 3. Then O(i) = i for some i ∈ [1...n]. Suppose O(i)=j=i Since n 23, there is ke [1...n] \ Zi, jg. Let T be the permutation which flips i and k; that means T(i)=k, T(k)=i, and T(r)=r if re[1..n]\zi, kz Consider To OCi) and J. TCi). We have τ. Oti) = τ (j) = j as j∉ ξ i, kg and $\sigma_{\tau(i)} = \sigma(k)$ (II) Since $i \neq k$ and σ is a permutation, $\sigma(i) \neq \sigma(k)$, which means $j \neq O(k)$. (III) By (I), (II), and (II), $T_0 O \neq O_0 T$ which contradicts the assumption that or is in the center of Sn. Hence $T_0 \mathcal{O} \neq \mathcal{O}_0 \mathcal{T}$. not possible

math103a-s-21 Page 16

More on dihedral groups Tuesday, June 29, 2021 3:29 PM Let's recall that $D_{2n} = \frac{2}{2}$ id., $\sigma, \dots, \sigma^{n-1}$, $\tau, \sigma, \tau, \dots, \sigma^{n-1}$, τ_{2n} where $\mathcal{O}: \mathbb{Z}_n \to \mathbb{Z}_n, \ \mathcal{O}(X) = X + [1]_n$ and $\tau: \mathbb{Z} \to \mathbb{Z}_n, \quad \mathcal{T}(\chi) = -\chi.$ Notice that $O'(x) = X + EiI_n$ for every integer i. In particular $O' = id \iff Eil_n = [ol_n \iff n \mid i. (I)$ $T^{2}(x) = T(-x) = -(-x) = x$; and so $T^{2} = id$., and $\mathcal{T}_{\circ} \mathcal{O}^{i} \mathcal{T}_{\circ}^{-1}(x) = \mathcal{T} \left(\mathcal{O}^{i} \left(-x \right) \right) = \mathcal{T} \left(-x + \mathsf{L}^{i} \mathsf{I}_{n} \right)$ $= x + [-i]_n = O^{-i}(x); \text{ and } so$ $\tau_{\circ} \sigma^{i} \tau^{-1} = \sigma^{-i}.$ (II) Proposition $C_{(T)} = \frac{2}{2}id., T\xi if n is odd, and$ $\frac{C}{D_{2n}} = \frac{2}{2} i \frac{d}{d}, \frac{\tau}{2}, \frac{\sigma^{n_{2}}}{\sigma^{n_{2}}}, \frac{\sigma^{n_{2}}}{\sigma^{n_{2}}}, \frac{\tau}{2} i \frac{1}{2} n is even.$ $\frac{PP}{D_{2n}} \xrightarrow{C} \frac{1}{2} as \xrightarrow{C} \frac{1}{2} \xrightarrow{C} \frac{1}{2} \xrightarrow{D_{2n}} as \xrightarrow{C} \frac{1}{2} \xrightarrow{C} \frac{1}{2} \xrightarrow{D_{2n}} x$ in C (τ). Then $\tau_0 \sigma^i = \sigma^i \sigma^i$, which implies that D_{2n} $\tau_0 \sigma^i \circ \tau^{-1} = \sigma^i$. Hence, by (π), $\sigma^{-i} = \sigma^i$. Multiplying both sides by σ^{i} , we deduce that $\sigma^{2i} = id$. By (T), we conclude that n | 2i. If n is odd, then god (n, 2) = 1.

math103a-s-21 Page 17

Center of dihedral groups Tuesday, June 29, 2021 3:29 PM By Euclid's lemma, n | 21 and gcd (n, 2) = 1 imply that n|i|, and so O'=id. Hence if n is odd, $\frac{2}{id}$, σ , \dots , $\sigma^{n-1}\xi \cap C(\tau) = \frac{2}{id}$, $\frac{2}{\xi}$. (I) If n is even, n/2i implies that n/i. Conversely if $\frac{n}{2}$ | i, then n | 2i. In this case $7.0^{i} = 0^{i}.7$. Thus $if n is even, \xiid, \sigma, ..., \sigma^{n-1} \xi \cap C(\tau) = D$ $\frac{2}{2}\sigma^{i}$ | $\frac{n}{2}$ | i and $o \leq i < n\xi = \frac{2}{2}$ id., $\sigma^{n_{2}}\xi$. (II) Since $C_{(\tau)}$ is a subgroup and $\tau \in C_{(\tau)}$, we have $\sigma^{i} \tau \in \mathcal{C}_{D_{2n}}(\tau) \iff \sigma^{i} \in \mathcal{C}_{D_{2n}}(\tau).$ <u>(III)</u> By (I), (II), and (III) we conclude that $C_{D(\tau)} = \frac{2}{2} i d., \tau \frac{2}{5} i f n is odd, and$ e Proposition. $Z(D_{2n}) = \frac{1}{2} \operatorname{id} \frac{1}{5}$ if n > 1 and odd, and $Z(D_{2n}) = \frac{2}{2} \operatorname{id}_{,0} O^{n_{j_2}} \frac{1}{2} \operatorname{if}_{n>2} and even.$ $\frac{PP}{P_{2n}} \text{ Notice that } Z(D_{2n}) \subseteq C_{D_{2n}}(\mathcal{T}) \text{ . Suppose n is odd.}$ By (\underline{W}) and the previous proposition, to show $Z(\underline{D}_{\underline{x}_{1}}) = \frac{1}{2}$ id. §,

Center of dihedral groups Tuesday, June 29, 2021 3:29 PM it is enough to show $\mathcal{T} \notin Z(D_{2n})$. Suppose to the contrary that $T \in Z(D_{2n})$. Then $C(T) = D_{2n}$, and so $|C_{D_n}(\tau)| = |D_{2n}| \Longrightarrow 2 = 2n$ which is a contradiction. . Suppose n is even. Notice that, for every integer i, $O'' \circ O' = O'' = O' \circ O''^2$ and $\sigma^{n_{2}} \circ \sigma^{i} \circ \tau = \sigma^{i} \circ \sigma^{n_{2}} \circ \tau = \sigma^{i} \circ \sigma^{n_{2}}$ Hence $\sigma^{n_{\prime_2}} \in \mathbb{Z}(\mathbb{D}_{2n}) .$ Since $|C_{D_{2n}}(\tau)| = 4 \neq 2n$, $C_{D_{2n}}(\tau) \neq D_{2n}$. Thus $\mathcal{T} \notin \mathbb{Z}(\mathbb{D})$ (II) Because Z(D2n) is a subgroup of D2n, by (I) and (I) $\sigma''^2 \quad \tau \notin Z(D_{2n}). \square$ id, $\sigma^{h_2} \in Z(D_n)$, $\tau \notin Z(D_n)$, and $\sigma^{h_2} \tau \notin Z(D)$, we conclude that $Z(D_{2n}) = \frac{1}{2}$ id., $\sigma^{n_2} \frac{1}{2}$. 2